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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
la 125 12.7 7.9 25 50.9 31.5
1b 112 13.3 7.5 25 53 28.2
2a 267 12.6 6.4 25 50.5 67.3
2b 265 11.8 6.7 25 47.3 66.8
3a 230 13 6.4 25 52 57.9
3b 202 12.5 8.1 25 50 50.9
4a 72 12.4 5.3 25 49.7 18.1
4b 81 11.2 6.5 25 44.8 20.4
5a 77 14.5 6.9 25 58.2 19.4
5b 74 11.1 7 25 44.2 18.6
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AS Generic Band Descriptors

Band .

Assessment Objective AO1 — Part (a) questions [25 marks]

Demonstrate knowledge and understanding of religion and belief, including:

religious, philosophical and/or ethical thought and teaching

influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation'

o
°

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions [25 marks]

Analyse and evaluate aspects of, and approaches to, religion and belief, including
their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues
raised by the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and
addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or
evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported
with reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the
question set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.

© WJEC CBAC Ltd.






EDUQAS GCE AS RELIGIOUS STUDIES

COMPONENT 2: AN INTRODUCTION TO THE PHILOSOPHY OF RELIGION

1. (@)

© WJEC CBAC Ltd.

SUMMER 2022 MARK SCHEME

To be read in conjunction with the generic level descriptors provided.

Section A

Explain Descartes’ and Malcolm’s ontological arguments for the
existence of God.

[AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e Candidates may mention the concept of deductive proof which is a priori.
This relies on the analysis of a definition or an idea in order to come to a
logically necessary conclusion. It may be contrasted with the concept of
inductive proof, which is a posteriori.

e Ontology is the study of being. So, the ontological argument analyses the
being of God in order to conclude that God exists or to show how self-
evident the existence of God is once we have accepted the definition.

o Candidates may simply refer to St Anselm, but credit should only be given
to responses that highlight the nature of ontological arguments through
doing this. Credit for the contribution of scholars should be limited to
Descartes and Malcolm.

o Descartes saw the ontological argument as deductive and a priori, based
on theoretical deduction rather than observation or experience. His
definition of God was one of a ‘supremely perfect being.” He saw
existence as a quality that integrally belonged to God in the same way
that three angles make a triangle or as a mountain entails a valley. For
God, existence is a predicate, God’s defining predicate. One cannot
conceive of a supremely perfect being without existence.

o Descartes argued that, as he could conceive of his own existence, he
could also conceive of the existence of the perfect being. Descartes
offered his own form of the argument; God, a supremely perfect being,
has all perfections. Existence is a perfection. Therefore God, a supremely
being, exists.

¢ In ‘Meditation 5’, Descartes argued that there were some qualities that an
object necessarily has to have or else it would not be that object.
Therefore, existence cannot be separated from the concept of God.

¢ Norman Malcolm developed the ontological argument. He noted that in
Proslogion 2 Anselm uses existence as a predicate. This is not the area
that Malcolm focuses on.

¢ Malcolm states that this is not the case in Proslogion 3 and thus develops
Anselm’s second form. God'’s existence is either impossible or necessary.
It cannot be impossible since the concept is not self-contradictory. His
development thus includes the ideas that God’s existence is necessary. If
God did not exist then God could not come into existence or he would not
be God. God is an unlimited being.

This is not a checklist, please remember to credit any valid alternatives.





(b)

© WJEC CBAC Ltd.

‘Ontological arguments are more persuasive than cosmological
arguments for God’s existence.’

Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e Ontological arguments are regarded as persuasive because they are a
priori arguments and a deductive proof with a logically inescapable
conclusion. They present a logically necessary conclusion once the
premises are shown to follow on successively in a coherent fashion. This
is attractive to believers of theistic religions, because for them the
existence of God is self-evident. This is a better line of argument than the
inductive a posteriori proofs which only lead to a possible conclusion.

e However, supporters of cosmological arguments may argue otherwise. It
can be said that inductive arguments, although they do not offer definitive
‘proof’, are far more reliable than deductive arguments. Cosmological
arguments in this way are more persuasive.

e Cosmological arguments rest on sound assumptions including the idea
that all things need a cause and that there is a link between cause and
effect. The rejection of infinity is also a persuasive aspect of the
cosmological argument.

e However, there are unpersuasive aspects to the cosmological argument.
The argument rests on the need to find a cause to the universe. If there is
no such need and an acceptance that the world ‘just is’ then the argument
fails. Similarly, even if a cause of the universe is accepted, this does not
mean that the cause can be established as being the God of Classical
Theism.

o A further objection to the persuasiveness of cosmological arguments may
be that one cannot move from part to whole. That is, just because things
in the universe need to have a cause, this does not mean that the
Universe as a whole needs a cause (the fallacy of composition.)

e Regarding ontological arguments, they do seem to be logical in its
assertion that we cannot explain the concept of God properly without
coming to the conclusion that he exists. That is, if one understands the
definition of God then it will be an obvious deduction that God does
indeed possess the property of existence. To deny this would be
tantamount to being a fool.

e However, there is a powerful and obvious conclusion that you cannot
define something into existence. Those who disregard it cite the
effectiveness of counter claims e.g. Gaunilo’s ‘greatest island’ or Kant’s
use of examples such as thalers, mountain and valley and a triangle.

e For the higher Bands, expect candidates to perform a comparative
evaluation of ontological and cosmological arguments, rather than stand-
alone evaluations of the two.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

Indeed they did. The candidate sets the scene and does not waste time on superfluous material.



Sticky Note

Key terms are identified with the correct definition of God given.



Sticky Note

Another feature of Descartes' philosophy is identified.



Sticky Note

The argument is present in a methodical fashion, leading to a feeling of 'thorough and accurate'. Throughout, there is 'thorough and accurate use of specialist vocabulary'. 



Sticky Note

Effective use of exemplification via the use of analogies. the concept of necessary existence is correctly referred to. 'Extensive and relevant'.



Sticky Note

This shows 'an extensive' response with reference to the innate knowledge of God. This adds to the previous detail that knowledge of God is universal. 
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Sticky Note

The argument is brought full circle with the use of analogies explained throughly and accurately'.



Sticky Note

This has correctly placed Malcolm's argument in the context of the work of St Anselm. The definition of God is used as a starting point, though it should refer to 'unlimited being'.



Sticky Note

The argument is presented with reference to the concepts of necessary and impossible. Malcolm's conclusion is formed.



Sticky Note

The response is not 'perfect' but in the time available and in terms of the material included, worthy of Band 5, 25 marks.
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Sticky Note

The reference to the simple word 'more' is reflective of the fact that the candidate is comparing the two arguments. 



Sticky Note

On its own, the reference to 'inductive' would not be worthy of the requirements for the higher Bands. However, the candidate gives a vast amount of material, which is perceptively evaluated. The crucial aspect is that the inductive nature of the cosmological argument is contrasted with the deductive nature of ontological arguments further on in the response.  



Sticky Note

Here is the contrast with inductive arguments. This shows the candidate's effort and success in evaluating the persuasive aspects of both types of argument. 
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Sticky Note

Referring to criticisms of ontological arguments alone would not allow the candidate to reach the higher Bands. However, the candidate is aiming at the question throughout. This is shown by the 'perceptive evaluation' further along which uses the concept of empirical arguments.



Sticky Note

Here is the crux of the point started above. A challenge to ontological arguments is that they are not empirically sound, whereas cosmological arguments are empirically sound.



Sticky Note

The issues are 'thoroughly addressed' by the candidate now questioning the idea that cosmological arguments are empirically sound. 'Perceptive analysis'.
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Sticky Note

Features of ontological arguments are highlighted and used in the analysis and evaluation.



Sticky Note

This is a 'thorough and sustained' argument. The Big Bang is now used to argue a different point. The candidate suggests that the Big Bang can indeed support cosmological arguments. This could mean that cosmological arguments are more persuasive than ontological ones as cosmological arguments can be supported by scientific theory, which ontological arguments cannot.



Sticky Note

It is probable that the candidate has run out of time. However, they have 'confidently and critically analysed' throughout so Band 5, 25 marks. 
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Either,

a) Explain Descartes’ and Malcolm’s ontological arguments for the existence of God.

[25]
b) ‘Ontological arguments are more persuasive than cosmological arguments for
God’s existence.’
Evaluate this view. [25]
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AS Generic Band Descriptors

Band .

Assessment Objective AO1 — Part (a) questions [25 marks]

Demonstrate knowledge and understanding of religion and belief, including:

religious, philosophical and/or ethical thought and teaching

influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation'

o
°

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions [25 marks]

Analyse and evaluate aspects of, and approaches to, religion and belief, including
their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues
raised by the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and
addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or
evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported
with reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the
question set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.

© WJEC CBAC Ltd.






3. (a)

© WJEC CBAC Ltd.

Section B

Explain the problem of evil with reference to William Rowe and Gregory S.
Paul.

[AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e Evidential arguments from evil seek to show that the presence of suffering in
the world supports or makes likely the claim that the God of Classical Theism
does not exist.

o Rowe focuses on a particular kind of evil that is found in our world in
abundance: pointless or unnecessary suffering. He selects intense human
and animal suffering as this occurs on a daily basis, there is a lot of it, and it
is a clear case of evil. More precisely, it is a case of intrinsic evil: it is bad in
and of itself, even though it sometimes is part of, or leads to, some good state
of affairs.

e It may be accepted that some amount of suffering may have some purpose,
but there exist instances of intense suffering which an omnipotent, omniscient
being could have prevented without thereby losing some greater good or
permitting some evil equally bad or worse. An omniscient, wholly good being
would prevent the occurrence of any intense suffering it could, unless it could
not do so without thereby losing some greater good or permitting some evil
equally bad or worse. So, there does not exist an omnipotent, omniscient,
wholly good being.

e Consider the lingering death of a fawn. Such suffering seems preventable
and pointless. With respect to the fawn’s suffering, Rowe asks: is it
reasonable to believe that there is some greater good so intimately
connected to that suffering that even an omnipotent, omniscient being could
not have obtained that good without permitting that suffering or some evil at
least as bad? Rowe claims that it is not reasonable to believe this.

o Paul stated that the large-scale deaths of children is evidence against the
existence of a good God. He concludes that the widely held free will and best
of all possible worlds hypotheses are not correct.

o Some say that God doesn’t prevent bad things from happening because that
would interfere with free will. They claim we are free to choose our path and
to make choices that affect our lives here on earth and decide where we will
spend eternity. This is one of the most common arguments in defence of God
allowing evil to exist. Paul's study considers the fact that there have been
multitudes that have never had the choice to live the way God commands.

e There have been hundreds of billions of conceptions and at least fifty billion
children that have died before reaching the age of mature consent. The great
majority of these died from non-human causes, such as malaria as well as
from war and conception that did not result in childbirth. There was no
opportunity for exercising free will.

o Therefore, what Paul calls ‘the Holocaust of the Children’, stops an enormous
portion of humans from making a decision about their eternal fate while
maximising their suffering. He states that this means that the classic Christian
‘free will’ and ‘best of all possible worlds’ hypotheses are therefore wrong. If a
creator exists, then it has chosen to fashion a habitat that has maximized the
level of suffering and death among young humans that are due to factors
beyond the control of humans over most of their history.

This is not a checklist, please remember to credit any valid alternatives.



https://en.wikipedia.org/wiki/Best_of_all_possible_worlds

https://en.wikipedia.org/wiki/Best_of_all_possible_worlds



(b)

© WJEC CBAC Ltd.

‘Irenaean type theodicies solve the problem of evil.’

Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
responses should be credited.

It could be said that this type of theodicy reflects our understanding of
evolution and therefore solves the problem of evil for that reason. The
theodicy stands up to modern scientific findings and also shows that the
reason for the existence of evil and suffering is due to free will. In addition,
suffering is of benefit to humans as it enables humans to spiritually develop.
The idea of growth as a result of hardship could be consolidated by examples
throughout history.

Candidates may refer back to Rowe and Paul to question the idea the
suffering has meaning.

Candidates may focus on the strengths and weaknesses of Irenaeus or Rowe
and Paul or even use as an alternative line of reasoning the ideas of
Augustine.

However, the authenticity of his Biblical references may be called into
guestion and may therefore suggest that his theodicy is unsuccessful in
solving the problem of evil. If humans were not made in the image of God,
then the development to likeness suggested is also called into question. It
could also be suggested that often suffering is not soul-making but is rather,
soul-breaking.

It may well be true that some suffering does allow humans to develop morally;
it does generate characteristics of fortitude and courage. However, suffering
can also lead to more suffering and no benefit to human characteristics is
gained. For some, inflicting pain and suffering on others is something they
may thrive upon.

For some, God’s omnibenevolence squares with the idea of universal
salvation whereby all will be able to attain perfection in heaven. However, for
others this is the weakness of the theodicy. It is an unjust concept and does
not square with a fair God. There would be no need to live a morally good life
if everyone is going to heaven.

The suggestion that the theodicy relies on there being an after-life can be
used both as a success and as a weakness, hence affecting whether it solves
the problem of evil. If there is an after-life, it may succeed, but if there isn’t
one then it seems that the theodicy may fail to solve the problem of evil.
Irenaean type theodicies rely on the development process continuing in the
afterlife, where God’s plan will be understood, and suffering will be justified.
What if there is an after-life and it is exactly the same as this life, where evil
and suffering still abound? This could show that this type of theodicy fails to
solve the problem of evil as evil persists in heaven.

Many will argue that God creating the world deliberately imperfectly is morally
dubious to say the least. If God is omnipotent surely God could make the
world perfectly where humans still have free-will?

Others would argue that this is logically contradictory. One cannot be both
free yet also under God'’s constant surveillance. Indeed, with God
overwhelming human existence, no action at all would be free anyway.
Ultimately, candidates could grapple with the characteristics of the God of
Classical Theism and evaluate whether Irenaean type theodicies retain these
characteristics. If they do, then that is on the way to solving the problem of
evil. If these characteristics are lost, then it may appear that the problem of
evil remains.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.
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Sticky Note

A legitimate introduction but this could be tailored to the question by suggesting why these types of evil are 'a problem'.



Sticky Note

There is so much that can be drawn out of this one statement. Why is it  believed that it might 'all come down to God?' 



Sticky Note

Correct statement. The addition of 'unnecessary' or 'pointless' would suggest that the candidate knew particular points about Rowe's argument.
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Sticky Note

Appropriate exemplification with a link to what Rowe suggests this might mean for the characteristics of the God of Classical Theism.



Sticky Note

Again, the pointlessness of suffering is not indicated.



Sticky Note

Another relevant example and reference to God's omniscience. This shows 'limited depth' as no other conclusions are drawn about God's characteristics or existence.



Sticky Note

This is a 'basic response, addressing some of the demands of the question.' A basic understanding of Rowe and no mention of Paul. Band 2, 8 marks.
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Sticky Note

It is acceptable for the candidate to make reference to an alternative theodicy which might solve the problem of evil. However, the candidate needs to give reasons as to why this aspect of Augustine's theodicy might be successful rather than stating what it says.



Sticky Note

But why does God 'make humans suffer?' An answer to this would make an evaluative point.



Sticky Note

The candidate needs to show that they are not attributing this quotation to either Irenaeus or Hick. 
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Sticky Note

This is AO1 material, not AO2 - analysis and valuation. 



Sticky Note

The candidate needs to suggest how God 'could and can stop evil'. 



Sticky Note

Partially addressed' and 'some valid and inconsistent evaluation of the issue'. Band 2, 8 marks.
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Either,

a) Explain the problem of evil with reference to William Rowe and Gregory S. Paul.
[25]

b) ‘lrenaean type theodicies solve the problem of evil’
Evaluate this view. [25]
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AS Generic Band Descriptors

Band .

Assessment Objective AO1 — Part (a) questions [25 marks]

Demonstrate knowledge and understanding of religion and belief, including:

religious, philosophical and/or ethical thought and teaching

influence of beliefs, teachings and practices on individuals, communities and societies
cause and significance of similarities and differences in belief, teaching and practice
approaches to the study of religion and belief.

21-25 marks
Thorough, accurate and relevant knowledge and understanding of religion and belief.
An extensive and relevant response which answers the specific demands of the question
set.
The response demonstrates extensive depth and/or breadth. Excellent use of evidence
and examples.
Thorough and accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Accurate and relevant knowledge and understanding of religion and belief.
A detailed, relevant response which answers the specific demands of the question set.
The response demonstrates depth and/or breadth. Good use of evidence and examples.
Accurate reference made to sacred texts and sources of wisdom, where appropriate.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Mainly accurate and relevant knowledge and understanding of religion and belief.
A satisfactory response, which generally answers the main demands of the question set.
The response demonstrates depth and/or breadth in some areas. Satisfactory use of
evidence and examples.
Mainly accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Limited knowledge and understanding of religion and belief. Basic level of accuracy and
relevance.
A basic response, addressing some of the demands of the question set.
The response demonstrates limited depth and/or breadth, including limited use of
evidence and examples.
Some accurate reference made to sacred texts and sources of wisdom, where
appropriate.
Some accurate use of specialist language and vocabulary in context.

N.B.

1-5 marks
Very limited knowledge and understanding of religion and belief. Low level of accuracy
and relevance.
A very limited response, with little attempt to address the question.
The response demonstrates very limited depth and/or breadth. Very limited use of
evidence and examples.
Little or no reference made to sacred texts and sources of wisdom, where appropriate.
Some grasp of basic specialist language and vocabulary.

A maximum of 2 marks should be awarded for a response that only
demonstrates 'knowledge in isolation'

o
°

No relevant information.

© WJEC CBAC Ltd.






Band

Assessment Objective AO2- Part (b) questions [25 marks]

Analyse and evaluate aspects of, and approaches to, religion and belief, including
their significance, influence and study.

21-25 marks
Confident critical analysis and perceptive evaluation of the issue.
A response that successfully identifies and thoroughly addresses the issues
raised by the question set.
Thorough, sustained and clear views are given, supported by extensive, detailed
reasoning and/or evidence.
Thorough and accurate use of specialist language and vocabulary in context.

16-20 marks
Purposeful analysis and effective evaluation of the issue.
The main issues raised by the question are identified successfully and
addressed.
The views given are clearly supported by detailed reasoning and/or evidence.
Accurate use of specialist language and vocabulary in context.

11-15 marks
Satisfactory analysis and relevant evaluation of the issue.
Most of the issues raised by the question are identified successfully and have
generally been addressed.
Most of the views given are satisfactorily supported by reasoning and/or
evidence.
Mainly accurate use of specialist language and vocabulary in context.

6-10 marks
Some valid analysis and inconsistent evaluation of the issue.
A limited number of issues raised by the question set are identified and partially
addressed.
A basic attempt to justify the views given, but they are only partially supported
with reason and/or evidence.
Some accurate use of specialist language and vocabulary in context.

1-5 marks
A basic analysis and limited evaluation of the issue.
An attempt has been made to identify and address the issues raised by the
question set.
Little attempt to justify a view with reasoning or evidence.
Some use of basic specialist language and vocabulary.

No relevant analysis or evaluation.
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5. (a) Outline David Hume’s challenges to cosmological and teleological
arguments.

[AO1 25]

Candidates could include some of the following, but other relevant
responses should be credited.

Cosmological

o Expect reference to Hume’s empirical objections such as his critique that
it is illogical to seek a first cause since the notions of eternity and infinity
renders the quest irrelevant.

e Hume was also critical of the very vague notion of arbitrarily linking cause
and effect. We may do this because of habit or laziness; we see an effect
and infer a cause. Similarly, like causes do not mean like effects, nor do
like effects mean similar causes.

e We cannot go from part to whole. It is an inductive leap to say that things
in the universe have a designer to concluding that the universe has a
designer. He rejected the notion that a principle that was relevant to the
‘part’ (i.e. a cause) could be applied to the ‘whole’ (i.e. universe); Hume
argued that this was ‘an arbitrary act of the mind’. Russell later developed
this, referring to it as the ‘fallacy of composition’.

Teleological

e Hume’s objections to the teleological argument were mainly based around
the watchmaker analogy. He argued that the analogy between the
universe and the watch is weak, thus challenging the entire argument. He
comments that the universe is really nothing like a mechanical object.
Also, there are better analogies — the universe has greater similarity to a
vegetable than to a mechanical object, something that grows of its own
accord, not needing a designer.

e He commented, in his Epicurean hypothesis that the universe was bound
to have an appearance of design, even though it ‘just is.’ This is because
the universe over time produced itself to be as it is out of the ‘spring of
order.’ He distinguished between deliberate and authentic design.

¢ Even if we did accept that analogy then that would lead to some rather
unsavoury conclusions particularly with reference to the nature of God. He
accepted that we may end up with a designer, but this designer is
certainly not necessarily the God of Classical Theism. It is more likely that
there may have been a team of gods, just as many contribute to the
design of a watch. For Hume, this would suggest that polytheism is more
reasonable than monotheism. Alternatively, we may end up with an old
God or an absent God, who has left its design or considering the disorder
in the world, a young apprentice God who produced ‘the first rude essay
of an infant deity.’

e Also, we infer that a house or a ship has builders as we can infer this from
past experience. However, we have no experience of universes being
made so we cannot comment on the design of this one.

This is not a checklist, please remember to credit any valid alternatives.

© WJEC CBAC Ltd. 13





(b) ‘Teleological arguments for God’s existence are persuasive in the 21
century.’

Evaluate this view. [AO2 25]

Candidates could include some of the following, but other relevant
responses should be credited.

e |t may be argued that teleological arguments for God’s existence are
persuasive in the 215t century as arguments from design are still popular
today. There are many scholars and philosophical movements advocating
design.

e Anthropic arguments show that teleological arguments complement
evolution and indeed suggest that evolution can only occur with the aid of
some teleological purpose. God’s design allows for the conditions
necessary for evolution. Candidates may give examples from the work of
F.R. Tennant in order to illustrate that the universe is specifically designed
for intelligent human life.

e However, it could also be argued that teleological arguments are
unpersuasive in the 215t century. There is no need to refer to God’s
design as evolution can explain everything about life, without reference to
God whatsoever. Candidates may use Darwin’s theory of evolution by
natural selection as an evaluative tool in order to denounce the
persuasiveness of teleological arguments in the 215t century.

e ltis clear though that the Universe does show some evidence of design.
This design can be ascribed to God, but even if not, then this can still
show that teleological arguments are still useful and persuasive today.
Examples may be given from scholars such as Aquinas and Paley in
order to consolidate the suggestion that the world is designed.

e |t may be pointed out that it is true that both animate and inanimate
objects do seem to have a purpose which cannot be achieved unless
directed. This is a persuasive argument as it can be observed. An acorn
will always become an oak tree. A watch can only function if it has been
designed.

o However, if teleological arguments need to prove God’s existence in order
to be persuasive, then this may be a tenuous argument. This is because
teleological arguments may point to a designer of some kind, but this
designer may well not be the God of Classical Theism.

e Tennant’s aesthetic argument may show that teleological arguments for
God’s existence are persuasive. This is because it is a clear and
persuasive point that humans do enjoy things that are not needed for
survival. This could show that a purely evolutionary stance is
unpersuasive. God designed humans specifically in order that they may
enjoy the world.

¢« On the other hand, it can be argued that humans have simply developed
the need for ‘higher pleasures’ which are integral to their life and indeed
possibly to their survival. This has nothing to do with a telos or purpose
being instilled by a divine designer.

Overall, candidates should engage with the debate and come to a
substantiated evaluation regarding the issue raised.

B120U20-1 EDUQAS GCE AS Religious Studies - Component 2 MS S22/CB
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Sticky Note

A correct challenge to the teleological argument regarding 'unsound analogies'. Appropriate terminology. 



Sticky Note

To expand and enhance the answer the candidate could state what Hume suggested might be a better analogy; that is with such an item as one which grows of its own accord.



Sticky Note

The candidate could say that cause and effect could be a challenge to both arguments. Here the point is conflated as is shown by the reference to both Paley and Aquinas.



Sticky Note

The reference to multiple gods, male and female is valid. However, this would be more relevant if separated from what precedes it and expanded into an extensive further point.



Sticky Note

A correct point, 'accurate and relevant'. For Band 5, it is expected that the candidate covers the implications of this sweeping statement.



Sticky Note

Another 'accurate and relevant' point referring to a characteristic of the God of Classical Theism. This is linked to Paley. Further appropriate exemplification is possible.
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Sticky Note

This is 'accurate and relevant'. It is clear that the candidate has been seelctive but there is little to find that is incorrect. Band 4, 19 marks.
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Sticky Note

This already shows that the candidate has recognised '21st Century' and will try to incorporate this in the answer.



Sticky Note

Reference to scientific discoveries is of course relevant. For the higher Bands, one would expect the candidate to link the material to teleological arguments.



Sticky Note

Leaving a gap always suggests that the candidate knows they should be including something else in a point.



Sticky Note

Useful reference to a posteriori knowledge and the acknowledgment that teleological arguments use a posteriori knowledge.



Sticky Note

This point could have been made into a 'purposeful' one by adding an example such as the regularity of the seasons.



Sticky Note

This continues with the same theme of criticism as the Big Bang. It is relevant but for higher Bands there needs to be a larger range of lines of thought or more extensive evidence. 
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Sticky Note

This is now becoming much more like an evaluation of arguments for God's existence rather than 'in the 21st Century'.  This is not irrelevant but it is not purposeful nor is it thoroughly identifying the issues.



Sticky Note

The adding on of this phrase is not a legitimate rounding up of what has been contained in the paragraph.



Sticky Note

It is 'satisfactory' in the sense that 'most of the views are satisfactorily supported'. It is just that more of the views needed to be linked to the question set. Band 3, 15 marks.
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Or,

a) Outline David Hume’s challenges to cosmological and teleological arguments.
[25]

b) ‘Teleological arguments for God’s existence are persuasive in the 215t century.
Evaluate this view. [25]
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